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HEN/NERE B2 BB A -HBEB/ERFEHR: §— - (101~111 - 201~210)

REBER HA )& EHEH SRR 48
RETEC B 10% 20% 20% 30%
RE1R 10% 1 60% 30%
RE 2R 10% £ 50% 40%
RE 3N 10% X X 90%
BiERE X X X 100%
BN/ RBERE 81/ ERER: 5= (211)
REER HA )% EHE SRR 48
RETEEAI 5% 30% X 65%
RE1R 10% X 90%
FIBRE X X 100%
HEN/NBERE  HEP - B2 /ERAFR : &= (301~310)
REER HA )% EEEH SN A% 48
RETEC B X 15% 15% 55%
RE1R X 3£ 45% 55%
RE 2 R X 3 45% 55%
BERE X X 100%
HEN /NBEE . B3/ ERAFER . 5= (311)
FRE BT HA )& EEEH SR A% 48
RETEC B X 30% 30% 40%
RE 1R X 50% 50%
BIBRE X X 100%




